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2)

(x
+

1)

=
x

+
2

+
x

+
1

(x
+

1)
(x

+
2)

=
2x

+
3

(x
+

1)
(x

+
2)

.

b)
1 x

+
1 x
2

h
at

d
en

kl
ei
n
st
en

ge
m
ei
n
sa
m
en

N
en

n
er

x
2 .

W
ir
m
ü
ss
en

n
u
r
d
en

er
st
en

B
ru
ch

er
w
ei
te
rn
,d

am
it
be

id
e
B
rü
ch

e
d
en

gl
ei
ch

en
N
en

n
er

h
ab

en
,

1 x
+

1 x
2

=
x x
2

+
1 x
2

=
x

+
1

x
2

.

c)
1

x
(x

+
1)

2
−

1
x
2
(x

+
2)

h
at

d
en

kl
ei
n
st
en

ge
m
ei
n
sa
m
en

N
en

n
er

x
2 (
x

+
1)

2 (
x

+
2)
.

W
ie

er
w
ei
te
rn

d
en

er
st
en

B
ru
ch

m
it

x
(x

+
2)

u
n
d

d
en

zw
ei
te
n
B
ru
ch

m
it

(x
+

1)
2 ,

1
x
(x

+
1)

2
−

1
x
2 (
x

+
2)

=
x
(x

+
2)

x
2 (
x

+
1)

2 (
x

+
2)
−

(x
+

1)
2

x
2 (
x

+
1)

2 (
x

+
2)

=
x
2
+

2x
x
2 (
x

+
1)

2 (
x

+
2)
−

x
2
+

2x
+

1
x
2 (
x

+
1)

2 (
x

+
2)

=
x
2
+

2x
−

(x
2
+

2x
+

1)
x
2
(x

+
1)

2 (
x

+
2)

=
x
2
+

2x
−

x
2
−

2x
−

1
x
2 (
x

+
1)

2
(x

+
2)

=
−1

x
2 (
x

+
1)

2 (
x

+
2)

.

d
)

x

x
+

1
−

1
x
(x
−

1)
−

1
h
at

d
en

kl
ei
n
st
en

ge
m
ei
n
sa
m
en

N
en

n
er

x
(x
−

1)
(x

+
1)
.
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B
rü
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e
er
w
ei
te
rn
,
so
d
as
s
si
e
d
en

ge
m
ei
n
sa
m
en

N
en

n
er

x
(x
−

1)
(x

+
1)

h
ab

en
,

x

x
+

1
−

1
x
(x
−

1)
−

1
=

x
2 (
x
−

1)
x
(x
−

1)
(x

+
1)
−

x
+

1
x
(x
−

1)
(x

+
1)
−

x
(x
−

1)
(x

+
1)

x
(x
−

1)
(x

+
1)

=
x
3
−

x
2

x
(x
−

1)
(x

+
1)
−

x
+

1
x
(x
−

1)
(x

+
1)
−

x
3
−

x

x
(x
−

1)
(x

+
1)

=
x
3
−

x
2
−

(x
+

1)
−

(x
3
−

x
)

x
(x
−

1)
(x

+
1)

=
x
3
−

x
2
−

x
−

1
−

x
3
+

x

x
(x
−

1)
(x

+
1)

=
−x

2
−

1
x
(x
−

1)
(x

+
1)

.
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m

gr
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e
A
u
sd

rü
ck
e
zu

ve
re
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fa
ch

en
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t
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g
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Fa
kt
or
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d
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d
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Fa
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n
n
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h
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sd
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kt
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ie
rt
bl
ei
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n
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m
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n
ic
h
t

m
it
d
en

R
ec
h
n
u
n
ge

n
fe
rt
ig

is
t.

B
ei
sp

ie
l
11

a)
1

x
−

2
−

4
x
2
−

4
=

1
x
−

2
−

4
(x

+
2)

(x
−

2)

=
{ K

le
in
st
er

ge
m
ei
n
sa
m
er

N
en

n
er

=
(x

+
2)

(x
−

2)
}

=
x

+
2

(x
+

2)
(x
−

2)
−

4
(x

+
2)

(x
−

2)

=
x

+
2
−

4
(x

+
2)

(x
−

2)
=

x
−

2
(x

+
2)

(x
−

2)
=

1
x

+
2

b)
x

+
1 x

x
2
+

1
=

x
2 x

+
1 x

x
2
+

1
=

x
2
+

1
x

x
2
+

1
=

x
2
+

1
x
(x

2
+

1)
=

1 x

c)

1 x
2
−

1 y
2

x
+

y
=

y
2

x
2 y

2
−

x
2

x
2
y
2

x
+

y
=

y
2
−

x
2

x
2 y

2

x
+

y
=

y
2
−

x
2

x
2 y

2 (
x

+
y
)

=
(y

+
x
)(
y
−

x
)

x
2 y

2 (
x

+
y
)

=
y
−

x

x
2 y

2
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2.
1
Ü
b
u
n
ge

n

Ü
b
u
n
g
2.
1:
1

E
rw

ei
te
re

a)
3x

(x
−

1)
b)

(1
+

x
−

x
2 )
x
y

c)
−x

2 (
4
−

y
2
)

d
)

x
3 y

2
( 1 y

−
1 x
y

+
1)

e)
(x
−

7)
2

f)
(5

+
4y

)2

g)
(y

2
−

3x
3
)2

h
)

(5
x
3
+

3x
5 )

2

Ü
b
u
n
g
2.
1:
2

L
ös
e
d
ie

K
la
m
m
er
n
au

f
u
n
d
ve

re
in
fa
ch

e

a)
(x
−

4)
(x
−

5)
−

3x
(2
x
−

3)
b)

(1
−

5x
)(
1

+
15

x
)−

3(
2
−

5x
)(
2

+
5x

)

c)
(3
x

+
4)

2
−

(3
x
−

2)
(3
x
−

8)
d
)

(3
x
2
+

2)
(3
x
2
−

2)
(9
x
4
+

4)

e)
(a

+
b)

2
+

(a
−

b)
2

Ü
b
u
n
g
2.
1:
3

Fa
kt
or
is
ie
re

u
n
d
ve

re
in
fa
ch

e
so

w
ei
t
w
ie

m
ög

li
ch

a)
x
2
−

36
b)

5x
2
−

20
c)

x
2
+

6x
+

9

d
)

x
2
−

10
x

+
25

e)
18

x
−

2x
3

f)
16

x
2
+

8x
+

1

Ü
b
u
n
g
2.
1:
4

L
ös
e
d
ie

K
la
m
m
er
n
au

f
u
n
d
be

st
im

m
e
d
ie

K
oe

ffi
zi
en

te
n
vo

n
x
u
n
d

x
2 .

a)
(x

+
2)

(3
x
2
−

x
+

5)

b)
(1

+
x

+
x
2
+

x
3 )

(2
−

x
+

x
2
+

x
4 )

c)
(x
−

x
3
+

x
5 )

(1
+

3x
+

5x
2 )

(2
−

7x
2
−

x
4
)

Ü
b
u
n
g
2.
1:
5

V
er
ei
n
fa
ch

en
so

w
ei
tw

ie
m
ög

li
ch

a)
1

x
−

x
2
−

1 x
b)

1
y
2
−

2y
−

2
y
2
−

4

c)
(3
x
2
−

12
)(
x
2
−

1)
(x

+
1)

(x
+

2)
d
)

(y
2
+

4y
+

4)
(2
y
−

4)
(y

2
+

4)
(y

2
−

4)
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b
u
n
g
2.
1:
6

V
er
ei
n
fa
ch

e
so

w
ei
tw

ie
m
ög

li
ch

a)
( x
−

y
+

x
2

y
−

x

)(
y

2x
−

y
−

1)
b)

x

x
−

2
+

x

x
+

3
−

2

c)
2a

+
b

a2
−

ab
−

2
a
−

b
d
)

a
−

b
+

b2

a
+

b

1
−

( a−
b

a
+

b

) 2
Ü
b
u
n
g
2.
1:
7

V
er
ei
n
fa
ch

e
fo
lg
en

d
e
A
u
sd

rü
ck
e,
so
d
as
s
si
e
n
u
r
ei
n
en

B
ru
ch

en
th
al
te
n

a)
2

x
+

3
−

2
x

+
5

b)
x

+
1

x
−

1
+

1 x
2

c)
ax

a
+

1
−

ax
2

(a
+

1)
2

Ü
b
u
n
g
2.
1:
8

V
er
ei
n
fa
ch

e
fo
lg
en

d
e
A
u
sd

rü
ck
e,
so
d
as
s
si
e
n
u
r
ei
n
en

B
ru
ch

en
th
al
te
n

a)

x

x
+

1
3

+
x

b)

3 x
−

1 x

1
x
−

3

c)
1

1
+

1

1
+

1
1

+
x
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2.
2
L
in
ea
re

G
le
ic
h
u
n
ge

n

In
h
al
t:

■
L
in
ea
re

G
le
ic
h
u
n
ge

n
■
G
le
ic
h
u
n
g
ei
n
er

G
er
ad

en
■
G
eo

m
et
ri
sc
h
e
P
ro
bl
em

e
■
G
eb

ie
te

d
efi

n
ie
rt
d
u
rc
h
li
n
ea
re

G
le
ic
h
u
n
ge

n

L
er
n
zi
el
e:

N
ac
h
d
ie
se
m

A
bs
ch

n
it
t
so
ll
te
st

D
u
fo
lg
en

d
es

kö
n
n
en

:

■
A
lg
eb

ra
is
ch

e
G
le
ic
h
u
n
ge

n
,
d
ie

n
ac
h
V
er
ei
n
fa
ch

u
n
ge

n
li
n
ea
re

G
le
ic
h
u
n
-

ge
n
er
ge

be
n
,l
ös
en

.
■
G
le
ic
h
u
n
ge

n
zw

is
ch

en
d
en

Fo
rm

en
y

=
kx

+
m

u
n
d

ax
+

by
+

c
=

0
u
m
w
an

d
el
n
.

■
G
er
ad

en
,d

ie
d
u
rc
h
ei
n
e
li
n
ea
re

G
le
ic
h
u
n
g
d
efi

n
ie
rt
si
n
d
,z

ei
ch

n
en

.
■
G
eo

m
et
ri
sc
h
e
P
ro
bl
em

e
m
it
li
n
ea
re
n
G
le
ic
h
u
n
ge

n
lö
se
n
.

■
G
eb

ie
te
,d

ie
d
u
rc
h
li
n
ea
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G
le
ic
h
u
n
ge

n
d
efi

n
ie
rt

si
n
d
,z

ei
ch

n
en

u
n
d
d
ie

Fl
äc
h
e
d
ie
se
r
G
eb

ie
te

be
re
ch

n
en

.

A
-
L
in
ea

re
G
le
ic
h
u
n
ge

n

U
m

L
in
ea
re

G
le
ic
h
u
n
ge

n
zu

lö
se
n
,f
ü
h
re
n
w
ir
sy
st
em

at
is
ch

ar
it
h
m
et
is
ch

e
O
p
er
at
io
n
en

au
f
be

id
en

Se
it
en

d
er

G
le
ic
h
u
n
g
au

s.

B
ei
sp

ie
l
1

a)
L
ös
e
d
ie

G
le
ic
h
u
n
g
x

+
3

=
7.

W
ir
su

bt
ra
h
ie
re
n
3
vo

n
be

id
en

Se
it
en

,

x
+

3
−

3
=

7
−

3.

D
ie

li
n
ke

Se
it
e
is
td

an
ac
h
x
,a

ls
o
is
t
u
n
se
re

G
le
ic
h
u
n
g
ge

lö
st
:

x
=

7
−

3
=

4.
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b)
L
ös
e
d
ie

G
le
ic
h
u
n
g
3x

=
6.

W
ir
d
iv
id
ie
re
n
be

id
e
Se

it
en

m
it
3,

3x 3
=

6 3
.

N
ac
h
d
em

w
ir

3
au

f
d
er

li
n
ke

n
Se

it
e
ge

kü
rz
t
h
ab

en
,b
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om

m
en

w
ir

d
ie

L
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su
n
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=

6 3
=
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L
ös
e
d
ie

G
le
ic
h
u
n
g
2x

+
1

=
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Z
u
er
st

su
bt
ra
h
ie
re
n
w
ir
1
vo

n
be

id
en

Se
it
en

,s
od

as
s
2x

al
le
in
e
li
n
ks

st
eh

t

2x
=

5
−
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Je
tz
td

iv
id
ie
re
n
w
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be

id
e
Se

it
en

d
u
rc
h
2
u
n
d
be

ko
m
m
en

d
ie

L
ös
u
n
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=

4 2
=
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E
in
e
li
n
ea
re

G
le
ic
h
u
n
g
ka

n
n
im

m
er
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d
ie

N
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m
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b
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h
t
w
er
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n
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u
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h
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d
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u
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ot
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St
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ge
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St
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ir
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L
ös
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fa
ch
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h
al
te
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B
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G
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u
n
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−
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=
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N
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h
d
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x
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u
n
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h
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n
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su
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Se
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−
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−
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=
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u
n
d
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t
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m
m
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n
u
r
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d
er

re
ch
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Se
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+
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ra
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7
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Se
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n
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=
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.
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n
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id
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Se
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en

d
u
rc
h
3,

−1
0

3
=

3x 3
,

u
n
d
er
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n
k
te
n
:

D
er

A
bs
ta
n
d
d
zw

is
ch

en
d
en

P
u
n
kt
en

(x
,y

)
u
n
d

(a
,b

)
is
t

d
=

√ (x
−

a)
2
+

(y
−

b)
2 .

D
ie

G
er
ad

e
zw

is
ch

en
d
en

be
id
en

P
u
n
kt
en

is
t
d
ie

H
yp

ot
en

u
se

ei
n
es

D
re
ie
ck
s,

w
ob

ei
d
ie

K
at
h
et
en

p
ar
al
le
lz

u
d
en

K
oo

rd
in
at
en

ac
h
se
n
si
n
d
.

d

x
a

y b

D
ie

K
at
h
et
en

d
es

D
re
ie
ck
s
si
n
d
d
ie

U
n
te
rs
ch

ie
d
e
in

x
-
bz

w
.i
n
y
-R

ic
h
tu
n
g
d
er

P
u
n
kt
e,

al
so
|x
−

a|
u
n
d
|y
−

b|.
D
u
rc
h
d
en

Sa
tz

d
es

P
yt
h
ag

or
as

er
h
al
te
n
w
ir

d
en

A
bs
ta
n
d

zw
is
ch

en
d
en

P
u
n
kt
en

.

B
ei
sp

ie
l
4

a)
D
er

A
bs
ta
n
d
zw

is
ch

en
(1
,2

)
u
n
d

(3
,1

)
is
t

d
=

√ (1
−

3)
2
+

(2
−

1)
2

=
√ (−

2)
2
+

12
=
√ 4

+
1

=
√ 5.
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b)
D
er

A
bs
ta
n
d
zw

is
ch

en
(−

1,
0)

u
n
d

(−
2,
−5

)
is
t

d
=

√ (−
1
−

(−
2)

)2
+

(0
−

(−
5)

)2
=

√ 12
+

52
=
√ 1

+
25

=
√ 26

.

C
-
K
re
is
e

E
in

K
re
is

be
st
eh

t
au

s
al
le
n
P
u
n
kt
en

,
d
ie

au
f
d
em

A
bs
ta
n
d
r
vo

n
ei
n
em

be
st
im

m
te
n

P
u
n
kt

(a
,b

)
li
eg

en
.

(a
,b

)r

D
er

A
bs
ta
n
d
r
is
td

er
R
ad

iu
s
d
es

K
re
is
es

u
n
d
d
er

P
u
n
kt

(a
,b

)
d
es
se
n
M
it
te
lp
u
n
kt
.D

as
B
il
d
ze
ig
ta

n
d
er
e
w
ic
h
ti
ge

B
eg

ri
ff
e
ei
n
es

K
re
is
es
.

D
u
rc
h
m
es
se
r

Ta
n
ge

n
te

Se
h
n
e

Se
ka

n
te

K
re
is
bo

ge
n

U
m
fa
n
g

Se
kt
or

ei
n
es

K
re
is
es

Se
gm

en
te

in
es

K
re
is
es

N
ü
tz
li
ch

e
Fo

rm
el
n
zu

r
B
er
ec
h
n
u
n
g
d
es

K
re
is
u
m
fa
n
ge

s
u
n
d
d
er

K
re
is
fl
äc
h
e:

K
re
is
u
m
fa
n
g

=
2π

r
u
n
d

K
re
is
fl
äc
h
e

=
π
r2
.



11
5 B
ei
sp

ie
l
5

E
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K
re
is
bo

ge
n
is
t
in

d
er

Fi
gu

r
ei
n
ge

ze
ic
h
n
et
.

a)
B
es
ti
m
m
e
d
ie

L
än

ge
d
es

K
re
is
bo

ge
n
s.

D
er

W
in
ke

l5
0◦

is
ti
n
R
ad

ia
n
te
n

50
◦

=
50
·1
◦

=
50
·

π 18
0
ra
d

=
5π 18

ra
d
.

L
au

t
D
efi

n
it
io
n

d
es

R
ad

ia
n
te
n

is
t
d
ie

L
än

-
ge

d
es

K
re
is
bo

ge
n
s
d
er

W
in
ke

l
in

R
ad

ia
n
te
n

m
u
lt
ip
li
zi
er
t
m
it
d
em

R
ad

iu
s,

3
·5

π 18
E
in
h
ei
te
n

=
5π 6

E
in
h
ei
te
n
.

3
50
◦

b)
B
es
ti
m
m
en

si
e
d
ie

Fl
äc
h
e
d
es

K
re
is
se
kt
or
s.

D
er

K
re
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se
kt
or

n
im

m
t
d
en

A
n
te
il 50

◦

36
0◦

=
5 36

d
er

Fl
äc
h
e
d
es

K
re
is
es

ei
n
.D

es
h
al
b
is
td

ie
Fl
äc
h
e
d
es

K
re
is
se
kt
or
s

5 36
vo

n
d
er

ga
n
ze
n
Fl
äc
h
e
d
es

K
re
is
es
,
w
el
ch

e
π
r2

=
π
32

=
9π

is
t.
A
ls
o
is
t
d
ie

Fl
äc
h
e

d
es

K
re
is
se
kt
or
s

5 36
·9

π
E
in
h
et
en

=
5π 4

E
in
h
ei
te
n
.

D
ie

P
u
n
kt
e

(x
,y

),
d
ie

au
f
d
em

K
re
is

m
it
d
em

M
it
te
lp
u
n
kt

(a
,b

)
u
n
d
d
em

R
ad

iu
s
r

li
eg

en
,k

ön
n
en

d
u
rc
h
d
ie
Fo

rm
el
fü
r
d
en

A
bs
ta
n
d
zw

is
ch

en
zw

ei
P
u
n
kt
en

be
sc
h
ri
eb

en
w
er
d
en

. D
ie

G
le
ic
h
u
n
g
ei
n
es

K
re
is
es
:

(x
−

a)
2
+

(y
−

b)
2

=
r2
.

(a
,b

)

(x
,y

)

r

11
6

B
ei
sp

ie
l
6

a)
(x
−

1)
2
+

(y
−

2)
2

=
9

is
t
d
ie

G
le
ic
h
u
n
g

ei
n
es

K
re
is
es

m
it
d
em

M
it
te
lp
u
n
kt

(1
,2

)
u
n
d
d
em

R
ad

iu
s
√ 9

=
3.

x

y

b)
x
2
+

(y
−

1)
2

=
1
:
E
s
gi
lt

(x
−

0)
2
+

(y
−

1)
2

=
1,

al
so

is
t
d
ie
s
d
ie

G
le
ic
h
u
n
g
ei
n
es

K
re
is
es

m
it
d
em

M
it
te
lp
u
n
kt

(0
,1

)
u
n
d
d
em

R
a-

d
iu
s
√ 1

=
1.

x

y

c)
(x

+
1)

2
+

(y
−

3)
2

=
5
:
E
s
is
t

(x
−

(−
1)

)2
+

(y
−

3)
2

=
5,

al
so

is
t
d
ie
s
G
le
ic
h
u
n
g
ei
n
es

K
re
is
es

m
it

d
em

M
it
te
lp
u
n
kt

(−
1,
3)

u
n
d
d
em

R
ad

iu
s

√ 5
≈

2,
23

6.
x

y

B
ei
sp

ie
l
7

a)
L
ie
gt

d
er

P
u
n
kt

(1
,2

)
au

f
d
em

K
re
is

(x
−

4)
2
+

y
2

=
13

?

W
ir
ko

n
tr
ol
li
er
en

,o
b
x

=
1
u
n
d
y

=
2
d
ie

G
le
ic
h
u
n
g
d
es

K
re
is
es

er
fü
ll
en

:

L
in
ke

Se
it
e

=
(1
−

4)
2
+

22
=

(−
3)

2
+

22
=

9
+

4
=

13
=

R
ec
h
te

Se
it
e.
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N
ac
h
d
em

d
er

P
u
n
kt

d
ie

G
le
ic
h
u
n
g
d
es

K
re
is
es

er
fü
ll
t,
li
eg

te
r
au

fd
em

K
re
is
.

x

y

(1
,2

)

b)
B
es
ti
m
m
en

Si
e
d
ie

G
le
ic
h
u
n
g
fü
r
d
en

K
re
is
,
d
er

d
en

M
it
te
lp
u
n
kt

(3
,4

)
h
at

u
n
d
d
u
rc
h
d
en

P
u
n
kt

(1
,0

)
ge

h
t.

N
ac
h
d
em

d
er

P
u
n
kt

(1
,0

)
au

f
d
em

K
re
is

li
eg

t,
m
u
ss

d
er

A
bs
ta
n
d
zw

is
ch

en
d
ie
se
m

P
u
n
kt

u
n
d
d
em

M
it
te
lp
u
n
kt

(3
,4

)
d
er

R
ad

iu
s
d
es

K
re
is
es

se
in
.A

ls
o

h
ab

en
w
ir

c
=

√ (3
−

1)
2
+

(4
−

0)
2

=
√ 4

+
16

=
√ 20

u
n
d
d
ie

G
le
ic
h
u
n
g
d
es

K
re
is
es

la
u
te
t:

(x
−

3)
2
+

(y
−

4)
2

=
20

. x

y

(1
,0

)(3
,4

)

B
ei
sp

ie
l
8

B
es
ti
m
m
e
d
en

M
it
te
lp
u
n
kt

u
n
d
R
ad

iu
s
d
es

K
re
is
es

m
it
d
er

G
le
ic
h
u
n
g

x
2
+

y
2
−

2x
+

4y
+

1
=

0.

W
ir
w
ol
le
n
d
ie

G
le
ic
h
u
n
g
d
es

K
re
is
es

au
f
d
ie

Fo
rm

(x
−

a)
2
+

(y
−

b)
2

=
r2

11
8

br
in
ge

n
.D

an
n
kö

n
n
en

w
ir
d
en

M
it
te
lp
u
n
kt

d
ir
ek

t
al
s

(a
,b

)
ab

le
se
n
,u

n
d
d
en

R
a-

d
iu
s
al
s
r.

W
ir
be

n
u
tz
en

zu
er
st

d
ie

qu
ad

ra
ti
sc
h
e
E
rg
än

zu
n
g
fü
r
al
le

x
-T
er
m
e
au

f
d
er

li
n
-

ke
n
Se

it
e,

x
2
−

2x
+

y
2
+

4y
+

1
=

(x
−

1)
2
−

12
+

y
2
+

4y
+

1.

(W
ir
h
ab

en
n
u
r
d
ie

u
n
te
rs
tr
ic
h
en

en
Te

rm
e
ve

rä
n
d
er
t.)

Je
tz
t
be

n
u
tz
en

w
ir
d
ie

qu
ad

ra
ti
sc
h
e
E
rg
än

zu
n
g
fü
r
al
le

y
-T
er
m
e,

(x
−

1)
2
−

12
+

y
2
+

4y
+

1
=

(x
−

1)
2
−

12
+

(y
+

2)
2
−

22
+

1.

D
ie

li
n
ke

Se
it
e
is
ta

ls
o

(x
−

1)
2
+

(y
+

2)
2
−

4.

W
en

n
w
ir
4
zu

be
id
en

Se
it
en

ad
d
ie
re
n
,e
rh
al
te
n
w
ir

(x
−

1)
2
+

(y
+

2)
2

=
4.

A
ls
o
h
at

d
er

K
re
is
d
en

M
it
te
lp
u
n
kt

(1
,−

2)
u
n
d
d
en

R
ad

iu
s
√ 4

=
2.

x

y

N
oc
h
Fr
ag

en
zu

d
ie
se
m

K
ap

it
el
?
D
an

n
sc
h
au

n
ac
h
im

K
u
rs
fo
ru
m

(D
u
fi
n
d
es
td

en
L
in
k

in
d
er

St
u
d
en

t
L
ou

n
ge

)
od

er
fr
ag

n
ac
h
p
er

Sk
yp

e
be

io
m
bT

u
to
r

T
ip
p
s
fü

rs
L
er
n
en

D
ia
gn

os
ti
sc
h
e
P
rü

fu
n
g
u
n
d
S
ch

lu
ss
p
rü

fu
n
g

N
ac
h
d
em

d
u
m
it
d
er

T
h
eo

ri
e
u
n
d
d
en

Ü
bu

n
ge

n
fe
rt
ig

bi
st
,s
ol
lt
es
t
D
u
d
ie

d
ia
-

gn
os
ti
sc
h
e
P
rü
fu
n
g
u
n
d
d
ie

Sc
h
lu
ss
p
rü
fu
n
g
m
ac
h
en

.D
u
fi
n
d
es
t
d
ie

L
in
ks

zu
d
en

P
rü
fu
n
ge

n
in

D
ei
n
er

„S
tu
d
en

tL
ou

n
ge

“.
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L
it
er
at
u
rh

in
w
ei
se

Fü
r
d
ie
,d

ie
ti
ef
er

in
d
ie

M
at
er
ie

ei
n
st
ei
ge

n
w
ol
le
n
,s
in
d
h
ie
r
ei
n
ig
e
L
in
ks

an
ge

-
fü
h
rt
:

■
M
eh

r
ü
be

r
d
en

Sa
tz

d
es

P
yt
h
ag

or
as

in
d
er

W
ik
ip
ed

ia
(http://de.

wikipedia.
org/wiki/S
atz_des_Py
thagoras)

■
L
ie
s
m
eh

r
ü
be

r
K
re
is
e
au

f
M
at
h
w
or
ld

(e
n
gl
.)

( http://mat
hworld.wol
fram.
om/C
ir
le.html

)

N
ü
tz
li
ch

e
W
eb

si
te
s

■
In
te
ra
kt
iv
e
E
xp

er
im

en
te
:S

in
u
s
u
n
d
C
os
in
u
s
im

E
in
h
ei
ts
kr
ei
s
(F
la
sh

)
(http://www

.math.kth.
se/online/
images/sin
us_o
h_
os
inus_i_

enhets
irk
eln.swf )
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0

4.
1
Ü
b
u
n
ge

n

Ü
b
u
n
g
4.
1:
1

Sc
h
re
ib
e
fo
lg
en

d
e
W
in
ke

li
n
R
ad

ia
n
te
n
u
n
d
G
ra
d
.

a)
1 4
V
ol
lw

in
ke

l
b)

3 8
V
ol
lw

in
ke

l

c)
−

2 3
V
ol
lw

in
ke

l
d
)

97 12
V
ol
lw

in
ke

l

Ü
b
u
n
g
4.
1:
2

Sc
h
re
ib
e
fo
lg
en

d
e
W
in
ke

li
n
R
ad

ia
n
te
n
.

a)
45
◦

b)
13

5◦
c)

−6
3◦

d
)

27
0◦

Ü
b
u
n
g
4.
1:
3

B
es
ti
m
m
e
d
ie

L
än

ge
d
er

Se
it
e
x
.

a)

30

40
x

b)

13

12
x

c)

x

8
17

Ü
b
u
n
g
4.
1:
4

a)
B
es
ti
m
m
e
d
en

A
bs
ta
n
d
zw

is
ch

en
d
en

P
u
n
kt
en

(1
,1

)
u
n
d

(5
,4

).

b)
B
es
ti
m
m
e
d
en

A
bs
ta
n
d
zw

is
ch

en
d
en

P
u
n
kt
en

(−
2,
5)

u
n
d

(3
,−

1)
.

c)
Fi
n
d
e
d
en

P
u
n
kt

au
f
d
er

x
-A

ch
se
,d

er
d
en

se
lb
en

A
bs
ta
n
d
zu

m
P
u
n
kt

(3
,3

)
w
ie

zu
m

P
u
n
kt

(5
,1

)
h
at
.

Ü
b
u
n
g
4.
1:
5

a)
B
es
ti
m
m
e
d
ie

G
le
ic
h
u
n
g
d
es

K
re
is
es

m
it
d
em

M
it
te
lp
u
n
kt

(1
,2

)
u
n
d
d
em

R
ad

iu
s
2.

b)
B
es
ti
m
m
e
d
ie

G
le
ic
h
u
n
g
d
es

K
re
is
es

m
it
d
em

M
it
te
lp
u
n
kt

(2
,−

1)
,d

er
d
en

P
u
n
kt

(−
1,
1)

en
th
äl
t.

Ü
b
u
n
g
4.
1:
6

Z
ei
ch

n
e
fo
lg
en

d
e
K
re
is
e

a)
x
2
+

y
2

=
9

b)
(x
−

1)
2
+

(y
−

2)
2

=
3

c)
(3
x
−

1)
2
+

(3
y

+
7)

2
=

10
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Ü
b
u
n
g
4.
1:
7

Z
ei
ch

n
e
fo
lg
en

d
e
K
re
is
e

a)
x
2
+

2x
+

y
2
−

2y
=

1
b)

x
2
+

y
2
+

4y
=

0

c)
x
2
−

2x
+

y
2
+

6y
=
−3

d
)

x
2
−

2x
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y
2
+

2y
=
−2

Ü
b
u
n
g
4.
1:
8

W
ie

vi
el
e
M
al

d
re
h
t
si
ch

ei
n
R
ad

m
it
d
em

R
ad

iu
s
50

cm
,w

en
n
es

10
m

ro
ll
t?

Ü
b
u
n
g
4.
1:
9

D
er

Se
ku

n
d
en

ze
ig
er

ei
n
er

U
h
r
is
t
8
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la
n
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W
ie
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oß

is
t
d
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Fl
äc
h
e,
d
ie

d
er

Z
ei
ge

r
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Se

ku
n
d
en

d
u
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h
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u
fe
n
h
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?

Ü
b
u
n
g
4.
1:
10

E
in
e
W

äs
ch

el
ei
n
e,

d
ie

5,
4
m

la
n
g
is
t,
is
t
zw

is
ch

en
zw

ei
se
n
kr
ec
h
te
n
B
äu

m
en

au
fg
e-

h
än

gt
.D

er
A
bs
ta
n
d
zw

is
ch

en
d
en

be
id
en

B
äu

m
en

is
t
4,
8
m
.D
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ei
n
e
E
n
d
e
d
er

L
ei
n
e

is
t
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6
m

h
öh

er
au
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än
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al
s
d
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an
d
er
e
E
n
d
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B
es
ti
m
m
e
w
ie

w
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t
u
n
te
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b
d
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li
n
-

ke
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B
au

m
es

d
ie

W
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e
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o
d
en

A
bs
ta
n
d
x
au

f
d
em

B
il
d
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0,
6
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2
Tr
ig
on

om
et
ri
sc
h
e
Fu

n
k
ti
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en

In
h
al
t:

■
D
ie

tr
ig
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om
et
ri
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h
en

Fu
n
kt
io
n
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n
st
en

P
er
io
d
e
2π

.
D
ie
s
be

d
eu

te
t,
d
as
s
co
s(
x

+
2π

)
=

co
s
x
u
n
d
si
n
(x

+
2π

)
=

si
n
x
.I
m

E
in
h
ei
ts
-

kr
ei
s
en

ts
p
ri
ch

t
d
as

ei
n
er

D
re
h
u
n
g
vo

n
2π

,w
ob

ei
w
ir
w
ie
d
er

d
en

se
lb
en

W
in
ke

l
er
h
al
te
n
.

■
D
ie

Ta
n
ge

n
sf
u
n
kt
io
n
is
t
p
er
io
d
is
ch

m
it
d
er

kl
ei
n
st
en

P
er
io
d
e

π
.A

ls
o
is
tt
an

(x
+

π
)

=
ta
n
x
.Z

w
ei

W
in
ke

lm
it
d
er

D
if
fe
re
n
z

π
h
ab

en
d
ie
se
lb
e
G
er
ad

e
u
n
d
d
ah

er
d
ie
se
lb
e
St
ei
gu

n
g.
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■
A
u
ße

r
ei
n
e
V
er
sc
h
ie
bu

n
g
vo

n
π
/
2,
si
n
d
d
ie
C
os
in
u
s-
u
n
d
Si
n
u
sf
u
n
kt
io
n
en

id
en

-
ti
sc
h
.G

en
au

er
is
tc
os

x
=

si
n
(x

+
π
/
2)
.D

ie
s
u
n
te
rs
u
ch

en
w
ir
n
äh

er
im

n
äc
h
st
en

A
bs
ch

n
it
t.

D
ie

Fu
n
kt
io
n
sg
ra
p
h
en

sp
ie
le
n
au

ch
ei
n
e
w
ic
h
ti
ge

R
ol
le

be
i
tr
ig
on

om
et
ri
sc
h
en

G
le
i-

ch
u
n
ge

n
,d

a
si
e
gr
ap

h
is
ch

e
L
ös
u
n
ge

n
vo

n
G
le
ic
h
u
n
ge

n
er
m
ög

li
ch

en
.

B
ei
sp

ie
l
10

W
ie

vi
el
e
L
ös
u
n
ge

n
h
at

d
ie

G
le
ic
h
u
n
co
s
x

=
x
2
(w

ob
ei

x
d
er

W
in
ke

li
n
R
ad

ia
n
te
n

is
t)
?

W
ir
ze
ic
h
n
en

d
ie

G
ra
p
h
en

vo
n
y

=
co
s
x
u
n
d
y

=
x
2
u
n
d
se
h
en

,d
as
s
d
ie

G
ra
p
h
en

zw
ei

Sc
h
n
it
tp
u
n
kt
e
h
ab

en
.
A
ls
o
h
at

d
ie

G
le
ic
h
u
n
g
zw

ei
L
ös
u
n
ge

n
x
,
w
o
d
ie

y
-

W
er
te

d
er

be
id
en

Fu
n
kt
io
n
en

gl
ei
ch

si
n
d
.D

ie
G
le
ic
h
u
n
g
h
at

al
so

zw
ei

L
ös
u
n
ge

n
.

x

y

y
=

co
s
x

y
=

x
2

1

1

N
oc
h
Fr
ag

en
zu

d
ie
se
m

K
ap

it
el
?
D
an

n
sc
h
au

n
ac
h
im

K
u
rs
fo
ru
m

(D
u
fi
n
d
es
td

en
L
in
k

in
d
er

St
u
d
en

t
L
ou

n
ge

)
od

er
fr
ag

n
ac
h
p
er

Sk
yp

e
be

io
m
bT

u
to
r.

T
ip
p
s
fü

rs
le
rn

en

D
ia
gn

os
ti
sc
h
e
P
rü

fu
n
g
u
n
d
S
ch

lu
ss
p
rü

fu
n
g

N
ac
h
d
em

d
u
m
it
d
er

T
h
eo

ri
e
u
n
d
d
en

Ü
bu

n
ge

n
fe
rt
ig

bi
st
,s
ol
lt
es
t
D
u
d
ie

d
ia
-

gn
os
ti
sc
h
e
P
rü
fu
n
g
u
n
d
d
ie

Sc
h
lu
ss
p
rü
fu
n
g
m
ac
h
en

.D
u
fi
n
d
es
t
d
ie

L
in
ks

zu
d
en

P
rü
fu
n
ge

n
in

D
ei
n
er

„S
tu
d
en

tL
ou

n
ge

“.

B
ed

en
k
e
fo
lg
en

d
es
:

D
ie

V
er
w
en

d
u
n
g
vo

n
Tr
ig
on

oe
tr
ie

ve
re
in
fa
ch

t
vi
el
e
ge

om
et
ri
sc
h
e
P
ro
bl
em

e.
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V
er
si
ch

er
e
D
ic
h
,d

as
s
D
u
d
ie

D
efi

n
it
io
n
d
er

tr
ig
on

om
et
ri
sc
h
en

Fu
n
kt
io
n
en

d
u
rc
h
d
en

E
in
h
ei
ts
kr
ei
s
w
ir
kl
ic
h
ve

rs
te
h
st
.

L
it
er
at
u
rh

in
w
ei
se

Fü
r
d
ie
,d

ie
ti
ef
er

in
d
ie

M
at
er
ie

ei
n
st
ei
ge

n
w
ol
le
n
,s
in
d
h
ie
r
ei
n
ig
e
L
in
ks

an
ge

-
fü
h
rt
:

■
M
eh

r
ü
be

r
tr
ig
on

om
et
ri
sc
h
e
Fu

n
kt
io
n
en

in
d
er

W
ik
ip
ed

ia
( http://de.

wikipedia.
org/wiki/T
rigonometr
is
he_Funk
tion)

■
M
eh

r
ü
be

r
d
en

E
in
h
ei
ts
kr
ei
s
in

d
er

W
ik
ip
ed

ia
(http://de.

wikipedia.
org/wiki/E
inheitskre
is)

N
ü
tz
li
ch

e
W
eb

si
te
s

■
E
xp

er
im

en
te

m
it
Si
n
u
s
u
n
d
C
os
in
u
s
im

E
in
h
ei
ts
kr
ei
s

( http://www
.math.kth.
se/online/
images/sin
us_o
h_
os
inus_i_

enhets
irk
eln.swf )

■
E
xp

er
im

en
ti
er
e
m
it
eu

kl
id
is
ch

er
G
eo

m
et
ri
e
(e
n
gl
.)

(http://www
.math.psu.
edu/dlittl
e/java/geo
metry/eu
l
idean/

toolbox.ht
ml )
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4.
2
Ü
b
u
n
ge

n

Ü
b
u
n
g
4.
2:
1

V
er
w
en

d
e
tr
ig
on

om
et
ri
sc
h
e
Fu

n
kt
io
n
en

,
u
m

d
ie

L
än

ge
d
er

u
n
be

ka
n
n
te
n
Se

it
e
x
zu

be
st
im

m
en

.
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x
b)
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◦
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c)
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◦
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x

d
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◦
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x

e)
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◦
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x

f)
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◦
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x

Ü
b
u
n
g
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Fi
n
d
e
ei
n
e
tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
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d
ie

d
en

W
in
ke

lv
en

th
äl
t.

a)
v

2

5

b)

v

70
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0

c)

v

5 7
d
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3
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Ü
b
u
n
g
4.
2:
3

B
er
ec
h
n
e

a)
si
n

( −
π 2

)
b)

co
s
2π

c)
si
n
9π

d
)

co
s
7π 2

e)
si
n
3π 4

f)
co
s
( −

π 6

)

Ü
b
u
n
g
4.
2:
4

B
er
ec
h
n
e

a)
co
s
11

π 6
b)

co
s
11

π 3
c)

ta
n
3π 4

d
)

ta
n

π
e)

ta
n
7π 6

f)
ta
n

( −
5π 3

)

Ü
b
u
n
g
4.
2:
5

B
er
ec
h
n
e

a)
co
s
13

5◦
b)

ta
n
22

5◦
c)

co
s
33

0◦
d
)

ta
n
49

5◦

Ü
b
u
n
g
4.
2:
6

B
er
ec
h
n
e
d
ie

L
än

ge
d
er

Se
it
e
x
.

60
◦

45
◦

1

x

13
6

Ü
b
u
n
g
4.
2:
7

U
m

d
ie

B
re
it
e
ei
n
es

Fl
u
ss
es

zu
be

st
im

m
en

,m
es
se
n
w
ir
d
ie

W
in
ke

lz
u
ei
n
em

Fi
xp

u
n
kt

au
f
d
em

U
fe
r
vo

n
zw

ei
ve

rs
ch

ie
d
en

en
St
el
le
n
.W

ie
br
ei
ti
st

d
er

Fl
u
ss
?

A
B
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◦
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◦
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m

C

Ü
b
u
n
g
4.
2:
8

E
in
e
St
an

ge
m
it
d
er

L
än

ge
ℓ
h
än

gt
an

zw
ei

Sc
h
n
ü
re
n
m
it
d
en

L
än

ge
n
a
u
n
d
b
w
ie

im
B
il
d
.D

ie
Sc
h
n
ü
re

bi
ld
en

d
ie

W
in
ke

lα
u
n
d

β
.B

es
ti
m
m
e
d
en

W
in
ke

lγ
.

a

α
b

β

ℓ
γ

Ü
b
u
n
g
4.
2:
9

E
in
e
St
ra
ss
e
vo

n
A

n
ac
h
B
be

st
eh

t
au

s
d
en

d
re
i
ge

ra
d
en

St
re
ck
en

A
P
,
P
Q

u
n
d
Q
B
,

d
ie

je
w
ei
ls
4,
0
km

,1
2,
0
km

u
n
d
5,
0
km

la
n
g
si
n
d
.D

ie
W
in
ke

lP
u
n
d
Q

si
n
d
je
w
ei
ls
30
◦

u
n
d
90
◦ .
B
es
ti
m
m
e
d
ie
L
än

ge
d
es

L
u
ft
w
eg

es
zw

is
ch

en
A
u
n
d
B
.(
D
ie
se

Ü
bu

n
g
st
am

m
t

au
s
ei
n
er

sc
h
w
ed

is
ch

en
A
bi
tu
rp
rü
fu
n
g
im

N
ov

em
be

r
19

76
.)

A

P

Q
B

30
◦
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3
Tr
ig
on

om
et
ri
sc
h
e
E
ig
en

sc
h
af
te
n

In
h
al
t:

■
D
er

tr
ig
on

om
et
ri
sc
h
e
P
yt
h
ag

or
as

■
D
ie

D
op

p
el
w
in
ke

lf
u
n
kt
io
n
en

u
n
d
d
ie

H
al
bw

in
ke

lf
or
m
el
n

■
D
ie

A
d
d
it
io
n
st
h
eo

re
m
e

L
er
n
zi
el
e:

N
ac
h
d
ie
se
m

A
bs
ch

n
it
t
so
ll
te
st

D
u
fo
lg
en

d
es

kö
n
n
en

:

■
Tr
ig
on

om
et
ri
sc
h
e
Id
en

ti
tä
te
n
d
u
rc
h
d
en

E
in
h
ei
ts
kr
ei
s
h
er
le
it
en

.
■
Tr
ig
on

om
et
ri
sc
h
e
A
u
sd

rü
ck
e
m
it
d
en

tr
ig
on

om
et
ri
sc
h
en

Id
en

ti
tä
te
n
ve

r-
ei
n
fa
ch

en
.

A
-
E
in
fü

h
ru

n
g

E
s
gi
bt

vi
el
e
tr
ig
on

om
et
ri
sc
h
e
Fo

rm
el
n
,u

m
ve

rs
ch

ie
d
en

e
tr
ig
on

om
et
ri
sc
h
e
A
u
sd

rü
ck
e

u
m
zu

w
an

d
el
n
.
D
ie
se

Fo
rm

el
n

n
en

n
t
m
an

m
ei
st

d
ie

tr
ig
on

om
et
ri
sc
h
en

Id
en

ti
tä
te
n
.

W
ir

w
er
d
en

h
ie
r
ei
n
ig
e
tr
ig
on

om
et
ri
sc
h
e
Id
en

ti
tä
te
n
ze
ig
en

,
ab

er
es

gi
bt

n
oc
h
vi
el
e

m
eh

r.
D
ie

m
ei
st
en

kö
n
n
en

d
u
rc
h
d
ie

D
op

p
el
w
in
ke

lf
u
n
kt
io
n
en

u
n
d
d
u
rc
h
d
en

tr
ig
o-

n
om

et
ri
sc
h
en

P
yt
h
ag

or
as

h
er
ge

le
it
et

w
er
d
en

,d
ie

d
es
h
al
b
ze
n
tr
al
e
Id
en

ti
tä
te
n
si
n
d
.

B
-D

er
tr
ig
on

om
et
ri
sc
h
e
P
yt
h
ag

or
as

D
ie
se
s
G
es
et
z
is
t
ei
ge

n
tl
ic
h
n
u
r
ei
n
So

n
d
er
fa
ll

d
es

G
es
et
ze
s
vo

n
P
yt
h
ag

or
as

fü
r
D
re
ie
ck
e
im

E
in
h
ei
ts
kr
ei
s.
D
u
rc
h
d
as

re
ch

tw
in
kl
ig
e
D
re
ie
ck

im
B
il
d
se
h
en

w
ir
,d

as
s

(s
in

v
)2

+
(c
os

v
)2

=
1,

d
as

n
or
m
al
er
w
ei
se

al
s
si
n
2 v

+
co
s2
v

=
1
ge

-
sc
h
ri
eb

en
w
ir
d
.

x

y

1 co
sv

si
n

v
v

13
8

C
-
S
ym

m
et
ri
en

M
it
Sp

ie
ge

lu
n
ge

n
im

E
in
h
ei
ts
kr
ei
s
ka

n
n
m
an

vi
el
e
Sy

m
m
et
ri
en

d
er

tr
ig
on

om
et
ri
sc
h
en

Fu
n
kt
io
n
en

ze
ig
en

.

co
s(
−v

)
=

co
s
v

si
n
(−

v
)

=
−
si
n
v

co
s(

π
−

v
)

=
−
co
s
v

si
n
(π
−

v
)

=
si
n
v

co
s( π 2

−
v
) =

si
n
v

si
n
( π 2

−
v
) =

co
s
v

co
s( v

+
π 2

) =
−
si
n
v

si
n
( v

+
π 2

) =
co
s
v

W
ie

ge
sa
gt

ka
n
n
m
an

d
ie
se

Sy
m
m
et
ri
en

ei
n
fa
ch

m
it
d
em

E
in
h
ei
ts
kr
ei
s
h
er
le
it
en

.

S
p
ie
ge

lu
n
g
an

d
er

x
-A

ch
se

x

y

v −v

D
u
rc
h

Sp
ie
ge

lu
n
g

an
d
er

x
-A

ch
se

w
ir
d

d
er

W
in
ke

lv
,−

v
.

D
ie

Sp
ie
ge

lu
n
g

w
ir
kt

si
ch

n
ic
h
t
au

f
d
ie

x
-

K
oo

rd
in
at
e
au

s,
w
äh

re
n
d
d
ie

y
-K

oo
rd
in
at
e
ih
r

V
or
ze
ic
h
en

ta
u
sc
h
t,

co
s(
−v

)
=

co
s
v
,

si
n
(−

v
)

=
−
si
n
v
.

S
p
ie
ge

lu
n
g
an

d
er

y
-A

ch
se

x

y

v
−v

D
u
rc
h

Sp
ie
ge

lu
n
g

an
d
er

y
-A

ch
se

w
ir
d

d
er

W
in
ke

lv
,π
−

v
.(
D
er

ge
sp

ie
ge

lt
e
W
in
ke

lb
il
d
et

d
en

W
in
ke

lv
m
it
d
er

n
eg

at
iv
en

x
-A

ch
se
.)

D
ie

Sp
ie
ge

lu
n
g

w
ir
kt

si
ch

n
ic
h
t
au

f
d
ie

y
-

K
oo

rd
in
at
e
au

s,
w
äh

re
n
d
d
ie

x
-K

oo
rd
in
at
e
ih
r

V
or
ze
ic
h
en

ta
u
sc
h
t,

co
s(

π
−

v
)

=
−
co
s
v
,

si
n
(π
−

v
)

=
si
n
v
.
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S
p
ie
ge

lu
n
g
an

d
er

G
er
ad

en
y

=
x

x

y

v

−v

D
u
rc
h

ei
n
e
Sp

ie
ge

lu
n
g

an
d
er

G
er
ad

en
w
ir
d

d
er

W
in
ke

lv
,π

/
2
−

v
.(
D
er

ge
sp

ie
ge

lt
e
W
in
ke

l
bi
ld
et

d
en

W
in
ke

lv
m
it
d
er

p
os
it
iv
en

y
-A

ch
se
.)

D
u
rc
h
d
ie

Sp
ie
ge

lu
n
g
ta
u
sc
h
en

d
ie

x
-
u
n
d
d
ie

y
-
K
oo

rd
in
at
en

ih
re

P
lä
tz
e,

co
s( π 2

−
v
) =

si
n
v
,

si
n
( π 2

−
v
) =

co
s
v
.

D
re
h
u
n
g
u
m

d
en

W
in
k
el

π
/2

x

y

v

v

D
u
rc
h
ei
n
e
U
m
d
re
h
u
n
g
vo

n
π
/
2
w
ir
d
d
er

W
in
-

ke
lv

zu
v

+
π
/
2.

D
u
rc
h
d
ie

D
re
h
u
n
g
w
ir
d
d
ie

K
oo

rd
in
at
e

(x
,y

)
zu

(−
y
,x

),

co
s( v

+
π 2

) =
−
si
n
v
,

si
n
( v

+
π 2

) =
co
s
v
.

D
-
D
ie

A
d
d
it
io
n
st
h
eo

re
m
e,
d
ie

D
op

p
el
w
in
k
el
fu

n
k
ti
on

en
u
n
d
d
ie

H
al
b
w
in
k
el
fo
rm

el
n

O
ft

ko
m
m
en

A
u
sd

rü
ck
e
m
it
Su

m
m
en

vo
n
W
in
ke

ln
vo

r,
so
w
ie

si
n
(u

+
v
).

Se
h
r
h
il
f-

re
ic
h
si
n
d

be
i
so
lc
h
en

A
u
sd

rü
ck
en

d
ie

A
d
d
it
io
n
st
h
eo

re
m
e.

Fü
r
Si
n
u
s
u
n
d

C
os
in
u
s

la
u
te
n
d
ie

A
d
d
it
io
n
st
h
eo

re
m
e

si
n
(u

+
v
)

=
si
n
u
co
s
v

+
co
s
u
si
n
v
,

si
n
(u
−

v
)

=
si
n
u
co
s
v
−

co
s
u
si
n
v
,

co
s(
u

+
v
)

=
co
s
u
co
s
v
−

si
n
u
si
n
v
,

co
s(
u
−

v
)

=
co
s
u
co
s
v

+
si
n
u
si
n
v
.

U
m

d
ie

D
op

p
el
w
in
ke

lf
u
n
kt
io
n
en

si
n
2v

u
n
d
co
s
2v

zu
er
h
al
te
n
,k

an
n
m
an

d
ie

So
n
d
er
-

fä
ll
e
si
n
(v

+
v
)
u
n
d
co
s(
v

+
v
)
d
er

A
d
d
it
io
n
st
h
eo

re
m
e
be

tr
ac
h
te
n

14
0

si
n
2v

=
2
si
n
v
co
s
v
,

co
s
2v

=
co
s2
v
−

si
n
2 v
.

In
d
em

m
an

in
d
ie
se

Fo
rm

el
2v

m
it
v
er
se
tz
t
u
n
d
n
at
ü
rl
ic
h
au

ch
v
m
it
v
/
2,

er
h
äl
t
m
an

fü
r
co
s
2v

,
co
s
v

=
co
s2
v 2
−

si
n
2
v 2
.

D
u
rc
h
d
en

tr
ig
on

om
et
ri
sc
h
en

P
yt
h
ag

or
as

w
er
d
en

w
ir
d
en

Te
rm

co
s2

(v
/
2)

lo
s

co
s
v

=
1
−

si
n
2
v 2
−

si
n
2
v 2

=
1
−

2
si
n2

v 2

al
so

si
n
2
v 2

=
1
−

co
s
v

2
.

M
an

ka
n
n
n
at
ü
rl
ic
h
au

ch
d
en

tr
ig
on

om
et
ri
sc
h
en

P
yt
h
ag

or
as

ve
rw

en
d
en

,u
m

d
en

Te
rm

si
n
2 (
v
/
2)

lo
sz
u
w
er
d
en

.S
o
er
h
al
te
n
w
ir
st
at
t
d
es
se
n

co
s2
v 2

=
1

+
co
s
v

2
.

N
oc
h
Fr
ag

en
zu

d
ie
se
m

K
ap

it
el
?
D
an

n
sc
h
au

n
ac
h
im

K
u
rs
fo
ru
m

(D
u
fi
n
d
es
td

en
L
in
k

in
d
er

St
u
d
en

t
L
ou

n
ge

)
od

er
fr
ag

n
ac
h
p
er

Sk
yp

e
be

io
m
bT

u
to
r.

T
ip
p
s
fü

rs
L
er
n
en

D
ia
gn

os
ti
sc
h
e
P
rü

fu
n
g
u
n
d
S
ch

lu
ss
p
rü

fu
n
g

N
ac
h
d
em

d
u
m
it
d
er

T
h
eo

ri
e
u
n
d
d
en

Ü
bu

n
ge

n
fe
rt
ig

bi
st
,s
ol
lt
es
t
D
u
d
ie

d
ia
-

gn
os
ti
sc
h
e
P
rü
fu
n
g
u
n
d
d
ie

Sc
h
lu
ss
p
rü
fu
n
g
m
ac
h
en

.D
u
fi
n
d
es
t
d
ie

L
in
ks

zu
d
en

P
rü
fu
n
ge

n
in

D
ei
n
er

„S
tu
d
en

tL
ou

n
ge

“.

B
ed

en
k
en

fo
lg
en

d
es
:
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1

D
er

E
in
h
ei
ts
kr
ei
s
is
te

in
se
h
r
n
ü
tz
li
ch

es
H
il
fs
m
it
te
l,
u
m

tr
ig
on

om
et
ri
sc
h
e
Id
en

-
ti
tä
te
n
h
er
zu

le
it
en

.
E
s
gi
bt

se
h
r
vi
el
e
ve

rs
ch

ie
d
en

e
tr
ig
on

om
et
ri
sc
h
e
Id
en

ti
tä
-

te
n
,u

n
d
m
an

ka
n
n
si
e
n
ic
h
t
al
le

au
sw

en
d
ig

le
rn
en

.D
es
h
al
b
is
t
es

gu
t,
si
e
h
er
-

le
it
en

zu
kö

n
n
en

.
D
er

tr
ig
on

om
et
ri
sc
h
e
P
yt
h
ag

or
as

is
t
zu

m
B
ei
sp

ie
l
n
u
r
ei
n

So
n
d
er
fa
ll
d
es

G
es
et
ze
s
vo

n
P
yt
h
ag

or
as

im
E
in
h
ei
ts
kr
ei
s.

N
ü
tz
li
ch

e
W
eb

si
te
s

■
E
xp

er
im

en
ti
er
e
m
it
d
er

„C
os
in
u
sk
is
te
“
(e
n
gl
.)

(http://www
.ies.
o.jp
/math/java
/trig/
osb
ox/
osbox.
html)

14
2

4.
3
Ü
b
u
n
ge

n

Ü
b
u
n
g
4.
3:
1

B
es
ti
m
m
e
d
en

W
in
ke

lv
zw

is
ch

en
π 2

u
n
d
2π

,d
er

fo
lg
en

d
e
G
le
ic
h
u
n
g
er
fü
ll
t:

a)
co
s
v

=
co
s

π 5
b)

si
n
v

=
si
n

π 7
c)

ta
n
v

=
ta
n
2π 7

Ü
b
u
n
g
4.
3:
2

B
es
ti
m
m
e
d
en

W
in
ke

lv
zw

is
ch

en
0
u
n
d

π
,d

er
d
ie

fo
lg
en

d
e
G
le
ic
h
u
n
g
er
fü
ll
t:

a)
co
s
v

=
co
s
3π 2

b)
co
s
v

=
co
s
7π 5

Ü
b
u
n
g
4.
3:
3

A
n
ge

n
om

m
en

,−
π 2
≤

v
≤

π 2
u
n
d
si
n
v

=
a.
Sc
h
re
ib
e
fo
lg
en

d
e
A
u
sd

rü
ck
e
m
it
a:

a)
si
n

(−
v
)

b)
si
n

(π
−

v
)

c)
co
s
v

d
)

si
n

( π 2
−

v
)

e)
co
s
( π 2

+
v
)

f)
si
n

( π 3
+

v
)

Ü
b
u
n
g
4.
3:
4

A
n
ge

n
om

m
en

,0
≤

v
≤

π
u
n
d
co
s
v

=
b.
Sc
h
re
ib
e
fo
lg
en

d
e
A
u
sd

rü
ck
e
m
it
b:

a)
si
n
2 v

b)
si
n
v

c)
si
n
2v

d
)

co
s
2v

e)
si
n

( v
+

π 4

)
f)

co
s
( v
−

π 3

)
Ü
b
u
n
g
4.
3:
5

B
es
ti
m
m
e
co
s
v
u
n
d
ta
n
v
,w

en
n
v
ei
n
sp

it
ze
r
W
in
ke

li
st

u
n
d
si
n
v

=
5 7

is
t.

Ü
b
u
n
g
4.
3:
6

a)
B
es
ti
m
m
e
si
n
v

u
n
d

ta
n
v
,w

en
n

co
s
v

=
3 4

u
n
d

3π 2
≤

v
≤

2π
.

b)
B
es
ti
m
m
e
co
s
v

u
n
d

ta
n
v
,w

en
n

si
n
v

=
3 10

u
n
d
v
im

zw
ei
te
n
Q
u
ad

ra
n
t

li
eg

t.

c)
B
es
ti
m
m
e
si
n
v

u
n
d

co
s
v
,w

en
n

ta
n
v

=
3

u
n
d

π
≤

v
≤

3π 2
.
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3

Ü
b
u
n
g
4.
3:
7

B
es
ti
m
m
e
si
n

(x
+

y
)
w
en

n

a)
si
n
x

=
2 3
,
si
n
y

=
1 3
u
n
d
x
u
n
d
y
im

er
st
en

Q
u
ad

ra
n
t
li
eg

en
.

b)
co
s
x

=
2 5
,
co
s
y

=
3 5
u
n
d
x
u
n
d
y
im

er
st
en

Q
u
ad

ra
n
t
li
eg

en
.

Ü
b
u
n
g
4.
3:
8

L
ei
te

fo
lg
en

d
e
tr
ig
on

om
et
ri
sc
h
e
Id
en

ti
tä
te
n
h
er
:

a)
ta
n
2
v

=
si
n
2
v

1
−

si
n
2
v

b)
1

co
s
v
−

ta
n
v

=
co
s
v

1
+

si
n
v

c)
ta
n
u 2

=
si
n
u

1
+

co
s
u

d
)

co
s(
u

+
v
)

co
s
u
co
s
v

=
1
−

ta
n
u
ta
n
v

Ü
b
u
n
g
4.
3:
9

Z
ei
ge

M
or
ri
es

G
le
ic
hh

ei
t:

co
s
20
◦ ·

co
s
40
◦ ·

co
s
80
◦

=
1 8
.

(H
in
w
ei
s:
G
eh

e
vo

n
d
er

D
op

p
el
w
in
ke

lf
u
n
kt
io
n
en

fü
r
si
n
16

0◦
au

s.
)

14
4

4.
4
Tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
ge

n

In
h
al
t:

■
G
ru
n
d
le
ge

n
d
e
tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
ge

n
■
E
in
fa
ch

e
tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
ge

n

L
er
n
zi
el
e:

N
ac
h
d
ie
se
m

A
bs
ch

n
it
t
so
ll
te
st

D
u
fo
lg
en

d
es

kö
n
n
en

:

■
G
ru
n
d
le
ge

n
d
e
tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
ge

n
lö
se
n
.

■
Tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
ge

n
lö
se
n
,
d
ie

in
an

d
er
e
G
le
ic
h
u
n
ge

n
u
m
ge

-
w
an

d
el
tw

er
d
en

kö
n
n
en

.

A
-
G
ru

n
d
le
ge

n
d
e
G
le
ic
h
u
n
ge

n

Tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
ge

n
kö

n
n
en

se
h
r
ko

m
p
li
zi
er
ts
ei
n
u
n
d
si
n
d
of
tn

ic
h
te

in
m
al

an
al
yt
is
ch

lö
sb
ar
.E

s
gi
bt

ab
er

ei
n
ig
e
gr
u
n
d
le
ge

n
d
e
tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
ge

n
,w

ie
si
n
x

=
a,
co
s
x

=
a
u
n
d
ta
n
x

=
a
,d

ie
re
la
ti
v
ei
n
fa
ch

e
L
ös
u
n
ge

n
h
ab

en
.

So
lc
h
e
G
le
ic
h
u
n
ge

n
h
ab

en
im

al
lg
em

ei
n
en

Fa
ll
en

tw
ed

er
ga

r
ke

in
e,
od

er
u
n
en

d
li
ch

vi
el
e
L
ös
u
n
ge

n
.W

en
n
m
an

ab
er

d
en

W
in
ke

lx
ir
ge

n
d
w
ie
be

gr
en

zt
,g

ib
te

s
en

d
li
ch

vi
el
e

L
ös
u
n
ge

n
,g

en
au

so
,w

en
n
m
an

zu
m

B
ei
sp

ie
le

in
en

sp
it
ze
n
W
in
ke

ls
u
ch

t.

B
ei
sp

ie
l
1

L
ös
e
d
ie

G
le
ic
h
u
n
g
si
n
x

=
1 2
.

W
ir
w
ol
le
n
al
le
W
in
ke

lfi
n
d
en

,d
ie
d
en

Si
n
u
s
1 2
h
ab

en
.B

et
ra
ch

te
n
w
ir
d
en

E
in
h
ei
ts
-

kr
ei
s,
se
h
en

w
ir
,d

as
s
es

zw
ei

so
lc
h
e
W
in
ke

lx
gi
bt
.

x

y

y
=

1 2
π
/
6

x

y

y
=

1 2
−π

/
6
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5 W
ir
h
ab

en
h
ie
r
al
so

d
ie

be
id
en

W
in
ke

l3
0◦

=
π
/
6
u
n
d
(d
u
rc
h
Sy

m
m
et
ri
e)

18
0◦
−

30
◦

=
15

0◦
,d

ie
d
em

y
-W

er
t
si
n
x

=
1 2
en

ts
p
re
ch

en
.Z

w
is
ch

en
0
u
n
d
2π

si
n
d
d
ie
s

au
ch

d
ie

ei
n
zi
ge

n
so
lc
h
en

W
in
ke

l.
A
be

r
n
ac
h
d
em

w
ir

zu
ei
n
em

W
in
ke

l
ei
n
V
ie
lf
ac
h
es

vo
n
2π

ad
d
ie
re
n
kö

n
n
en

,
oh

n
e
d
en

Si
n
u
s
zu

än
d
er
n
,h

ab
en

w
ir
au

ch
fo
lg
en

d
e
L
ös
u
n
ge

n
:

      x
=

π 6
+

2n
π
,

x
=

5π 6
+

2n
π
,

w
ob

ei
n
ei
n
e
be

li
eb

ig
e
ga

n
ze

Z
ah

l
is
t.
D
ie
s
w
ir
d
d
ie

al
lg
em

ei
n
e
L
ös
u
n
g
d
er

G
le
i-

ch
u
n
g
ge

n
an

n
t.

B
et
ra
ch

te
t
m
an

d
en

G
ra
p
h
vo

n
y

=
si
n
x
,s
ie
h
t
m
an

au
ch

,d
as
s
d
ie

G
le
ic
h
u
n
g

u
n
en

d
li
ch

vi
el
e
L
ös
u
n
ge

n
h
at
,n

ac
h
d
em

d
ie
K
u
rv
en

y
=

si
n
x
u
n
d
y

=
1 2
u
n
en

d
li
ch

vi
el
e
Sc
h
n
it
ts
te
ll
en

h
ab

en
.

x

y

y
=

si
n
x

y
=

1 2

1

π 6
5π 6

13
π 6

17
π 6

B
ei
sp

ie
l
2

L
ös
e
d
ie

G
le
ic
h
u
n
g
co
s
x

=
1 2
.

W
ir
be

tr
ac
h
te
n
d
en

E
in
h
ei
ts
kr
ei
s.

x

y
x

=
1 2

π
/
3

x

y
x

=
1 2

−π
/
3

14
6

W
ir

w
is
se
n
,
d
as
s
d
er

K
os
in
u
s
vo

n
π
/
3,

1 2
is
t.
B
et
ra
ch

te
n
w
ir

d
en

E
in
h
ei
ts
kr
ei
s,

se
h
en

w
ir
,d

as
s
d
er

W
in
ke

l−
π
/
3
au

ch
d
en

K
os
in
u
s

1 2
h
at
.A

d
d
ie
re
n
w
ir
ei
n
V
ie
l-

fa
ch

es
vo

n
2π

zu
d
ie
se
n
W
in
ke

ln
,e
rh
al
te
n
w
ir
d
ie

al
lg
em

ei
n
e
L
ös
u
n
g,

x
=
±π

/
3

+
n
·2

π
,

w
ob

ei
n
ei
n
e
be

li
eb

ig
e
ga

n
ze

Z
ah

li
st
.

B
ei
sp

ie
l
3

L
ös
e
d
ie

G
le
ic
h
u
n
g
ta
n
x

=
√ 3.

W
ir
w
is
se
n
vo

n
vo

rh
er
,d

as
s
d
er

W
in
ke

lx
=

π
/
3
d
ie

G
le
ic
h
u
n
g
er
fü
ll
t.

B
et
ra
ch

te
n
w
ir

d
en

E
in
h
ei
ts
kr
ei
s,

se
h
en

w
ir
,
d
as
s
je
d
e
h
al
be

U
m
d
re
h
u
n
g
d
es

W
in
ke

ls
d
ie
se
lb
e
St
ei
gu

n
g
w
ie

d
er

W
in
ke

lh
at

u
n
d
d
ah

er
d
en

se
lb
en

Ta
n
ge

n
s.

x

y
St
ei
gu

n
g
√ 3

π
/
3

x

y
St
ei
gu

n
g
√ 3

π
+

π
/
3

D
ah

er
er
h
al
te
n
w
ir

d
ie

al
lg
em

ei
n
e
L
ös
u
n
g,

in
d
em

w
ir

π
m
eh

rm
al
s
zu

r
L
ös
u
n
g

ad
d
ie
re
n
.S

o
er
h
al
te
n
w
ir
d
ie

L
ös
u
n
ge

n
π
/
3,

π
/
3

+
π
,π

/
3

+
π

+
π
et
c.
D
ie

al
lg
e-

m
ei
n
e
L
ös
u
n
g
d
er

G
le
ic
h
u
n
g
is
t
d
ah

er

x
=

π
/
3

+
n
·π

,

w
ob

ei
n
ei
n
e
be

li
eb

ig
e
ga

n
ze

Z
ah

li
st
.

B
-K

om
p
li
zi
er
te
re

G
le
ic
h
u
n
ge

n

W
ir
w
er
d
en

h
ie
r
ei
n
ig
e
B
ei
sp

ie
le
vo

n
ko

m
p
li
zi
er
te
re
n
tr
ig
on

om
et
ri
sc
h
en

G
le
ic
h
u
n
ge

n
ge

be
n
.

M
an

ch
e
tr
ig
on

om
et
ri
sc
h
e
G
le
ic
h
u
n
ge

n
kö

n
n
en

ve
re
in
fa
ch

t
w
er
d
en

,
in
d
em

m
an

d
ie

tr
ig
on

om
et
ri
sc
h
en

Id
en

ti
tä
te
n
be

n
u
tz
t.



14
7 B
ei
sp

ie
l
4

L
ös
e
d
ie

G
le
ic
h
u
n
g
co
s
2x
−

4
co
s
x

+
3

=
0.

W
ir
ve

rw
en

d
en

co
s
2x

=
2
co
s2
x
−

1
u
n
d
er
h
al
te
n

(2
co
s2
x
−

1)
−

4
co
s
x

+
3

=
0.

D
u
rc
h
D
iv
is
io
n
d
u
rc
h
2
er
h
al
te
n
w
ir

co
s2
x
−

2
co
s
x

+
1

=
0.

W
ir
fa
kt
or
is
ie
re
n
d
ie

li
n
ke

Se
it
e,

(c
os

x
−

1)
2

=
0.

D
ie
se

G
le
ic
h
u
n
g
is
t
n
u
r
er
fü
ll
t,
w
en

n
co
s
x

=
1.

D
ie
se

G
le
ic
h
u
n
g
lö
se
n
w
ir

w
ie

vo
rh
in

u
n
d
d
ie

al
lg
em

ei
n
e
L
ös
u
n
g
is
t x
=

2n
π
.

B
ei
sp

ie
l
5

L
ös
e
d
ie

G
le
ic
h
u
n
g

1 2
si
n
x

+
1
−

co
s2

x
=

0.

D
u
rc
h
d
en

Sa
tz

d
es

P
yt
h
ag

or
as

er
h
al
te
n
w
ir
1
−
co
s2
x

=
si
n
2
x
u
n
d
w
ir
be

ko
m
m
en

1 2
si
n
x

+
si
n
2
x

=
0.

W
ir
kl
am

m
er
n
d
en

Fa
kt
or

si
n
x
au

s
u
n
d
er
h
al
te
n

si
n
x
·( 1 2

+
si
n
x
) =

0.

So
se
h
en

w
ir
,
d
as
s
d
ie

L
ös
u
n
ge

n
d
er

G
le
ic
h
u
n
g
d
ie

G
le
ic
h
u
n
ge

n
si
n
x

=
0
od

er
si
n
x

=
−

1 2
er
fü
ll
en

m
ü
ss
en

.
D
ie
se

G
le
ic
h
u
n
ge

n
lö
se
n
w
ir

w
ie

in
B
ei
sp

ie
l
1.

D
ie

L
ös
u
n
ge

n
si
n
d

    x
=

n
π
,

x
=
−π

/
6

+
2n

π
,

x
=

7π
/
6

+
2n

π
.
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B
ei
sp

ie
l
6

L
ös
e
d
ie

G
le
ic
h
u
n
g
si
n
2x

=
4
co
s
x
.

D
u
rc
h
d
ie

D
op

p
el
w
in
ke

lf
u
n
kt
io
n
fü
r
d
en

K
os
in
u
s
er
h
al
te
n
w
ir

2
si
n
x
co
s
x
−

4
co
s
x

=
0.

D
iv
id
ie
re
n
w
ir
d
u
rc
h
2
u
n
d
kl
am

m
er
n
d
en

Fa
kt
or

co
s
x
au

s,
er
h
al
te
n
w
ir

co
s
x
·(

si
n
x
−

2)
=

0.

A
ls
o
m
ü
ss
en

d
ie

L
ös
u
n
ge

n
d
ie
se
r
G
le
ic
h
u
n
g
ei
n
e
d
er

G
le
ic
h
u
n
ge

n

■
co
s
x

=
0,

■
si
n
x

=
2.

er
fü
ll
en

.N
ac
h
d
em

si
n
x
n
ie

gr
öß

er
al
s
1
is
t,
h
at

d
ie

zw
ei
te

G
le
ic
h
u
n
g
ke

in
e
L
ös
u
n
-

ge
n
.D

ie
er
st
e
G
le
ic
h
u
n
g
h
in
ge

ge
n
h
at

d
ie

L
ös
u
n
ge

n
x

=
π
/
2

+
n
·π

.

B
ei
sp

ie
l
7

L
ös
e
d
ie

G
le
ic
h
u
n
g
4
si
n2

x
−

4
co
s
x

=
1.

W
ir

ve
rw

en
d
en

d
as

G
es
et
z
d
es

P
yt
h
ag

or
as
,
u
n
d
er
se
tz
en

si
n
2
x
m
it
1
−

co
s2
x
.S

o
er
h
al
te
n
w
ir

4(
1
−

co
s2
x
)−

4
co
s
x

=
1,

4
−

4
co
s2
x
−

4
co
s
x

=
1,

−4
co
s2
x
−

4
co
s
x

+
4
−

1
=

0,

co
s2
x

+
co
s
x
−

3 4
=

0.

D
ie
s
is
t
ei
n
e
qu

ad
ra
ti
sc
h
e
G
le
ic
h
u
n
g
fü
r
co
s
x
,m

it
d
en

L
ös
u
n
ge

n

co
s
x

=
−

3 2
u
n
d

co
s
x

=
1 2
.

N
ac
h
d
em

co
s
x
n
ie

kl
ei
n
er

al
s
−1

is
t,
h
at

d
ie

er
st
e
G
le
ic
h
u
n
g
ke

in
e
L
ös
u
n
g.

A
ls
o

h
at

d
ie

G
le
ic
h
u
n
g
n
u
r
d
ie
se
lb
en

L
ös
u
n
ge

n
w
ie

d
ie

G
le
ic
h
u
n
g

co
s
x

=
1 2
,

d
ie

w
ir
im

B
ei
sp

ie
l2

ge
lö
st

h
ab

en
.

N
oc
h
Fr
ag

en
zu

d
ie
se
m

K
ap

it
el
?
D
an

n
sc
h
au

n
ac
h
im

K
u
rs
fo
ru
m

(D
u
fi
n
d
es
td

en
L
in
k

in
d
er

St
u
d
en

t
L
ou

n
ge

)
od

er
fr
ag

n
ac
h
p
er

Sk
yp

e
be

io
m
bT

u
to
r
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T
ip
p
s
fü

rs
L
er
n
en

D
ia
gn

os
ti
sc
h
e
P
rü

fu
n
g
u
n
d
S
ch

lu
ss
p
rü

fu
n
g

N
ac
h
d
em

d
u
m
it
d
er

T
h
eo

ri
e
u
n
d
d
en

Ü
bu

n
ge

n
fe
rt
ig

bi
st
,s
ol
lt
es
t
D
u
d
ie

d
ia
-

gn
os
ti
sc
h
e
P
rü
fu
n
g
u
n
d
d
ie

Sc
h
lu
ss
p
rü
fu
n
g
m
ac
h
en

.D
u
fi
n
d
es
t
d
ie

L
in
ks

zu
d
en

P
rü
fu
n
ge

n
in

D
ei
n
er

„S
tu
d
en

tL
ou

n
ge

“.

B
ed

en
k
e
fo
lg
en

d
es

L
er
n
e
d
ie
gr
u
n
d
le
ge

n
d
en

tr
ig
on

om
et
ri
sc
h
en

Id
en

ti
tä
te
n
u
n
d
w
ie
si
e
ve

rw
en

d
et

w
er
d
en

,u
m

tr
ig
on

om
et
ri
sc
h
e
A
u
sd

rü
ck
e
zu

ve
re
in
fa
ch

en
.

E
s
is
t
w
ic
h
ti
g
m
it
d
en

gr
u
n
d
le
ge

n
d
en

tr
ig
on

om
et
ri
sc
h
en

G
le
ic
h
u
n
ge

n
ve

r-
tr
au

t
zu

se
in
,
u
m

ko
m
p
li
zi
er
te
re

G
le
ic
h
u
n
ge

n
lö
se
n
zu

kö
n
n
en

.
E
s
is
t
au

ch
w
ic
h
ti
g,

zu
w
is
se
n
,d

as
s
d
ie
se

G
le
ic
h
u
n
ge

n
u
n
en

d
li
ch

vi
el
e
L
ös
u
n
ge

n
h
ab

en
.

N
ü
tz
li
ch

e
W
eb

si
te
s

■
E
xp

er
im

en
ti
er
e
M
it
d
em

G
ra
p
h
en

d
er

Fu
n
kt
io
n

y
=

a
si
n
b(
x
−

c)
( http://www

.ies.
o.jp
/math/java
/trig/ABCs
inX/ABCsin
X.html)

15
0

4.
4
Ü
b
u
n
ge

n

Ü
b
u
n
g
4.
4:
1

Fü
r
w
el
ch

e
W
in
ke

lv
m
it

0
≤

v
≤

2π
is
t

a)
si
n
v

=
1 2

b)
co
s
v

=
1 2

c)
si
n
v

=
1

d
)

ta
n
v

=
1

e)
co
s
v

=
2

f)
si
n
v

=
−
1 2

g)
ta
n
v

=
−

1 √ 3

Ü
b
u
n
g
4.
4:
2

L
ös
e
d
ie

G
le
ic
h
u
n
g

a)
si
n
x

=
√ 3 2

b)
co
s
x

=
1 2

c)
si
n
x

=
0

d
)

si
n
5x

=
1 √ 2

e)
si
n
5x

=
1 2

f)
co
s
3x

=
−

1 √ 2

Ü
b
u
n
g
4.
4:
3

L
ös
e
d
ie

G
le
ic
h
u
n
g

a)
co
s
x

=
co
s

π 6
b)

si
n
x

=
si
n

π 5
c)

si
n

(x
+

40
◦ )

=
si
n
65
◦

d
)

si
n
3x

=
si
n
15
◦

Ü
b
u
n
g
4.
4:
4

B
es
ti
m
m
e
d
ie
W
in
ke

lv
im

In
te
rv
al
l
0◦
≤

v
≤

36
0◦
,d

ie
d
ie
G
le
ic
h
u
n
g
co
s( 2v

+
10
◦) =

co
s
11

0◦
er
fü
ll
en

.

Ü
b
u
n
g
4.
4:
5

L
ös
e
d
ie

G
le
ic
h
u
n
g

a)
si
n
3x

=
si
n
x

b)
ta
n
x

=
ta
n
4x

c)
co
s
5x

=
co
s(
x

+
π
/
5)

Ü
b
u
n
g
4.
4:
6

L
ös
e
d
ie

G
le
ic
h
u
n
g

a)
si
n
x
·c
os

3x
=

2
si
n
x

b)
√ 2

si
n
x
co
s
x

=
co
s
x

c)
si
n
2x

=
−
si
n
x
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Ü
b
u
n
g
4.
4:
7

L
ös
e
d
ie

G
le
ic
h
u
n
g

a)
2
si
n
2
x

+
si
n
x

=
1

b)
2
si
n
2
x
−

3
co
s
x

=
0

c)
co
s
3x

=
si
n
4x

Ü
b
u
n
g
4.
4:
8

L
ös
e
d
ie

G
le
ic
h
u
n
g

a)
si
n
2x

=
√ 2

co
s
x

b)
si
n
x

=
√ 3

co
s
x

c)
1

co
s2

x
=

1
−

ta
n
x

15
2

5.
1
M
at
h
em

at
is
ch

e
Fo

rm
el
n
sc
h
re
ib
en

In
h
al
t:

■
M
at
h
em

at
is
ch

e
A
u
sd

rü
ck
e
in

LA
T E
X

L
er
n
zi
el
e

N
ac
h
d
ie
se
m

A
bs
ch

n
it
t
so
ll
te
st

D
u
fo
lg
en

d
es

kö
n
n
en

:

■
E
in
fa
ch

e
Fo

rm
el
n
in

LA
T E
X
sc
h
re
ib
en

.
■
H
äu

fi
ge

Fe
h
le
r
ve

rm
ei
d
en

,d
ie
be

im
E
rs
te
ll
en

vo
n
D
ok

u
m
en

te
n
m
it
LA
T E
X

au
ft
re
te
n
.

U
m

M
at
h
em

at
ik

ef
fi
zi
en

ta
u
fe

in
em

C
om

p
u
te
r
in

Ih
re
r
p
er
sö
n
li
ch

en
H
au

sa
u
fg
ab

e
u
n
d

d
er

G
ru
p
p
en

au
fg
ab

e
zu

sc
h
re
ib
en

,w
er
d
en

Si
e
d
en

m
at
h
em

at
is
ch

en
Te

xt
in

Fo
rm

ei
n
es

Sy
n
ta
x
sc
h
re
ib
en

,d
er

LA
T E
X
ge

n
an

n
t
w
ir
d
.I
n
d
ie
se
m

A
bs
ch

n
it
t
le
rn
en

Si
e
d
en

gr
u
n
d
-

le
ge

n
d
en

LA
T E
X
-C

od
e,
u
m

ei
n
fa
ch

e
m
at
h
em

at
is
ch

e
Fo

rm
el
n
sc
h
re
ib
en

zu
kö

n
n
en

.

A
-
E
in
fa
ch

e
A
u
sd

rü
ck

e
sc
h
re
ib
en

U
m

m
at
h
em

at
is
ch

e
Fo

rm
at
ie
ru
n
ge

n
zu

be
gi
n
n
en

,v
er
w
en

d
en

Si
e
d
as

Ta
g

<math>und
zu

m
B
ee
n
d
en

</math>.W
en

n
Si
e
z.
B
.d

ie
Fo

rm
el

a
+

b
in

ei
n
er

Te
xt
u
m
ge

bu
n
g
ei
n
ge

-
be

n
m
öc
h
te
n
,s
ch

re
ib
en

Si
e

<math>a+b<
/math>.

E
in
fa
ch

e
m
at
h
em

at
is
ch

e
Fo

rm
el
n
sc
h
re
ib
en

si
ch

„s
tr
ai
gh

tf
or
w
ar
d
“.

B
ei
sp

ie
l
1

a)
1

+
2
−

3
w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>1+2-
3</math>

b)
5/

2
w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>5/2<
/math>

c)
4/

(2
+

x
)

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>4/(2
+x)</math>

d
)

4
<

5
w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>4<
5</math>

B
en

öt
ig
en

Si
e
Sy

m
bo

le
,
d
ie

n
ic
h
t
au

f
d
er

Ta
st
at
u
r
ve

rf
ü
gb

ar
si
n
d
od

er
Fo

rm
el
n
,
d
ie
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n
ic
h
t
so

ei
n
fa
ch

zu
sc
h
re
ib
en

si
n
d
,v

er
w
en

d
en

Si
e
h
ie
rz
u
sp

ez
ie
ll
e
B
ef
eh

le
.D

ie
se

be
-

gi
n
n
en

m
it
ei
n
em

B
ac
ks
la
sh

(d
.h
.

\).ZumBe
is
p
ie
l
is
t

\lederBef
eh

l,
w
el
ch

er
≤

er
-

ze
u
gt
.

D
ie

fo
lg
en

d
e
Ta

be
ll
e
ze
ig
t
Ih
n
en

ei
n
ig
e
d
er

am
h
äu

fi
gs
te
n
ve

rw
en

d
et
en

B
ef
eh

le
in

LA
T E
X
.

B
ei
sp

ie
l

LA
T E
X

K
om

m
en

ta
r

G
ru
n
d
re
ch

en
ar
te
n

a
+

b

a+b

a
−

b

a-b

a
±

b

a\pmb

a
·b

a\
dotb

a/
b

a/b

1 2

\fra
{1}{2
}Kleine

r
B
ru
ch

a b

\dfra
{a}{
b}Große

r
B
ru
ch

(a
)

(a)

Sk
al
ie
re
n
d
e
K
la
m
m
er
n
:

\left(...\
right)

V
er
gl
ei
ch

ss
ym

bo
le

a
=

b

a=b

a
6=

b

a\neb

A
lt
er
n
at
iv
:a\not=b

a
<

b

a<bB
em

.:
L
ee
rz
ei
ch

en
n
ac
h
„<

“

a
≤

b

a\leb

a
>

b

a>b

a
≥

b

a\geb

P
ot
en

ze
n
u
n
d

W
u
rz
el
n

x
n

x^{n}

√
x

\sqrt{x}

n√
x

\sqrt[n℄{x
}

In
d
iz
es

x
n

x_{n}

L
og

ar
it
h
m
en

lg
x

\lgx

ln
x

\lnx

lo
g
x

\logx

lo
g
a
x

\log_{a}x
Tr
ig
on

om
et
ri
e

30
◦

30^{\
ir
}
co
s
x

\
osx

15
4

si
n
x

\sinx

ta
n
x

\tanx
co
tx

\
otx
P
fe
il
e

⇒

\Rightarro
wimpliz

ie
rt

⇐

\Leftarrow
w
ir
d
im

p
li
zi
er
tv

on

⇔

\Leftright
arrowistä

qu
iv
al
en

t

V
er
sc
h
ie
d
en

e
Sy

m
bo

-
le

π

\pi
α
,β

,θ
,ϕ

\alpha,\b
eta,\thet
a,\varphi

B
ei
sp

ie
l
2

a)
1
±

3
·5

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>1\pm
3\
dot5</
math>

b)
1 2
y
6=

x
≤

z
w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>\fra

{1}{2}y\n
ex\lez</
math>

c)
21

3√
3

+
ln

y
w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>2^{1
3}\sqrt{3}
+\lny</ma
th>

d
)

ta
n
30
◦

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>\tan
30^{\
ir
}
</math>

B
-K

om
p
li
zi
er
te
re

A
u
sd

rü
ck

e

K
om

p
li
zi
er
te
re

A
u
sd

rü
ck
e
en

ts
te
h
en

d
u
rc
h
d
as

K
om

bi
n
ie
re
n
ei
n
fa
ch

er
.

B
ei
sp

ie
l
3

a)
√
x

+
2

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>\sqr
t{x+2}</ma
th>

b)
(a

2
)3

=
a6

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>(a^2
)^3=a^6</m
ath>

c)
2(

22
)

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>2^{(
2^2)}</mat
h>

d
)

si
n
√
x

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>\sin
\sqrt{x}</
math>
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5 B
ei
sp

ie
l
4

a)
√ x

+
√
x

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>\sqr
t{x+\sqrt{
x}}</math>

b)
x
−

x
2

√ 3
w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>\dfr
a
{x-x^2}{
\sqrt{3}}<
/math>

c)
x

x
+

1 x

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>\dfr
a
{x}{x+\d
fra
{1}{x}
}</math>

d
)

x
1,
2

=
−
p 2
±

√ ( p 2

) 2 −
q

w
ir
d
ge

sc
h
ri
eb

en
al
s

<math>x_{1
,2}=

-\dfra
{p}
{2}\pm\sqr
t{\left(\d
fra
{p}{2}
\right)^2-
q}</math>

C
-
V
er
m
ei
d
en

S
ie

h
äu

fi
ge

Fe
h
le
r

E
in
er

d
er

h
äu

fi
gs
te
n
Fe

h
le
r
be

im
E
d
it
ie
re
n
m
at
h
em

at
is
ch

er
A
u
sd

rü
ck
e
is
t,
d
ie

M
ar
-

ki
er
u
n
ge

n

<math>zuB
eg

in
n
u
n
d

</math>am
E
n
d
e.

V
er
ge

ss
en

Si
e
n
ic
h
t,
d
as
s
B
ef
eh

le
m
it
ei
n
em

B
ac
ks
la
sh

( \)beginnen
u
n
d
fü
ge

n
Si
e

h
in
te
r
d
en

B
ef
eh

le
n
ei
n
L
ee
rz
ei
ch

en
ei
n
,
so
la
n
ge

si
e
n
ic
h
t
vo

n
ei
n
em

n
eu

en
B
ef
eh

l
ge

fo
lg
t
w
er
d
en

.
E
in

w
ei
te
re
r
h
äu

fi
ge

r
Fe

h
le
r
is
t
es
,a

n
st
at
t
d
es

ko
rr
ek

te
n
Sy

m
bo

ls
fü
r
d
ie

M
u
lt
ip
li
-

ka
ti
on

·(

\
dotiLA T EX
)
ei
n
en

St
er
n
(*)zuverw

en
d
en

.

B
ei
sp

ie
l
5

LA
T E
X

R
es
u
lt
at

a)
V
er
ge

ss
en

Si
e
d
en

B
ac
ks
la
sh

n
ic
h
t
(\)

sinx

si
n
x

Fü
ge

n
Si
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